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Q1.: Circle the right answer for all of the following: ; (50 points)
(_)Jq (Nﬂﬂl )\ w\’;\;‘ Tz‘r’“" JL»V }% \, C\/\I/ ‘)\s /Mw)
1: According to van der Waal's correctlons if Vieal < VPerfectpg any gas th\at means Vt\}jme gas haf \’ s @ o 4‘%& M
Answer: a) non-polar pértiE:Tes b) polar particles ) s;ngj,l particles d) big parti
L""\ &2 h M. w( u\" R DA Y2 — f_
2: Calculate the welght of CO, gas (44 g.mol" !)ina 0.5 x 10* mL cylinder a(a{OZ kPaand 25°C,
R, T O 8
Answer: a) 180 gmol® b)180g~, c) 180 mol @ 80 kg (7& (-/ L3 e
( 2\ e “s (3% - \5 \Z, \p-/ ——
3 Calculate the density of CO; placed ina 22.4 x 103 inder at 20 x 10 kPa and 298K. /
Answer:  a)36.06kgl”  ()36.06 f 36.06 ¢ d) 36.06.%
cos A5\ (\f AV v5) o bk
4: According to Graham'’s Jawthe-heaviest gas has? P S ) A PEPRA s
Answer: ow r e y ,3ﬁ ighrate.)\« c) middle rate d) low density
=AY )*-9") o T~ P 9‘,\” o~ 7: ;; @ ?/;J
5: A gas occupies 20 dm? at t 90 °C and 760 torr pressure. What would be it e at STP?
ZAE s
Answer:  a)i5.0amL b) 15.04 dm? @15 043?( ;} ) 15.04 dm
ot pecr oF antt e . P o v
&: A vessel contains a certain amount of gas at 80 x 10° Pa. The gas is transferred i other tank 20 dm? with
pressure ofMPa. What should be its volume? V.- , ; 9//
Answer: ajostL blosPal ¢} 0.5Padm? >
Cars mpS goes i G < A% s /hl % i I e u//}‘ b u\
7: According to Avogadro’s law n is di “proportional with volume at constant?
Answer: ajp &Y 6 “S(Q"T&V dip&n elR&P
0g® o\ 2 r’\’ AL 7
8: Att i icles are present in a? J* Iz Jw
Answer: a) perfect gas L)\/ . b) non-ideal gg)&ﬂ i -~ d) noble gas) A }QNSW&
B A g a2 73 Y8 = # - —
9 it can follow the direct proportional between temperature and volume through he law of /
Answer: a) Van der Waal b) Graham c) Charles
(@ $ie W) U 57 (5 o\no LAy
10: The moi fraction of atm: eric pressure is equai to?
Answer: < __b)one c) two d) three
> ) :
'/ [ (_. N S ::\ o<lo 5 //
Q2: The following data have been observed for 10000 mg of CO; gas at 273 K. Calculate the best value of the <o
Folar mass of CO. | p/10°KPa | 1.00 | 200 | 3.00 | (25poifits)  —
VI g-- | 400 | 750 | 1175 (d * _;3./\50 A\S WER
W\ SR 23 |\ >z ‘) S\ ?"1\7’\ e
Q3 A perfect gas undergoes isothermal expansion, which i increases its volume 3, The pi and V, of the

..)1 (VA 2L (2
gas are 2 x 10?2 kPa and 2.14 dm?, respectively. Calculate the ps of the gas in (|) bar, (ii) torr. (25 points)
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